BRA T AR B RS A T R ERE L2 — b B E LR ORI A &R EMHE
HIE H AT24E12 A 23 0 (0K)
HIEMEOEALE 1 Sv (A7l —~Lk) /h
T E RS R TR D B BE iU 1B = 2 — (A 20 E #17H0.001~9.999 1 Sv/h)
Wiz 4 T X [ HEREHLOES HE R
HE AT [5¢] Joe R A e Pl
MR AR — — t0cm
50cm 12A23BITREL THEEA
100cm
HEST [5] Jo H Wi K
TR 9004y It 10cm 0.042 0.044 0.037
50cm 0.034 0.041 0.041
100cm 0.044 0.043 0.037
HE AT [l J Hp W15 JERK A IR
YRR 9mE554y P 10cm 0.063 0.055 0.050
50cm 0.062 0.050 0.052
100cm 0.059 0.049 0.056
5T 5] R H o W5 TRTEAR
Fe M L0404y 7 10cm 0.046 0.038 0.053
50cm 0.043 0.036 0.050
100cm 0.040 0.042 0.048
HIE AT [5] JoE e W5 = KAE R
AR5 110555 ;ML 10cm 0.052 0.026 0.034
50cm 0.045 0.029 0.030
100cm 0.039 0.028 0.031
HIE 5 AT [ J H W 5l i AL HEL
HIBEEE 1475455y Ik 10cm 0.034 0.033 0.037
50cm 0.028 0.028 0.041
100cm 0.027 0.042 0.033




